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CHM 1045

1. How many particles are in the following?

a. 12.56 mol C

b. 0.489 mol Na+
c. 1.56 x 103 mol CO2
d. 78.3 mol Cl-
e. 6.35 x 10-5 mol H2O

2. How many moles are in the following?

a. 5.6 x 1034 atoms of Fe

b. 45.68 atoms of O2
c. 7.98 x 1012 ions of F-
d. 84235 ions of Mg2+
3. Calculate the molar mass for the following

a. C6H12
b. FeCl3
c. Br2
d. NaOH

e. Ca(NO3)2
4. Calculate the mass of the following

a. 1.56 x 103 mol C6H12
b. 32 mol FeCl3
c. 6.21 x 10-3 mol Br2
d. 158 mol NaOH

5.  Calculate the moles of the following

a. 45.98 g Ca(NO3)2
b. 8.32 x 104 g Br2
c. 783 g FeCl3
d. 2.56 x 10-2 g NaOH

6. Calculate the mass of the following

a. 4.68 x 106 atoms of Fe

b. 45.6 atoms of C

c. 7.65 x 103 atoms of Na

7. Calculate the number of particles in the following

a. 62.3 g Fe

b. 4.68 x 108 g C

c. 9.81 x 10-2 g Na
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